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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises five sections —A, B, C, D and E. All questions
are compulsory.

(it)  Section A — Questions number 1 to 20 are very short-answer type questions,
carrying 1 mark each. They are required to be answered in one word or one
sentence each.

(iti) Section B - Questions number 21 to 24 are short-answer type questions,
carrying 3 marks each. Answers to each of them should not exceed 100 words.

(iv) Section C - Questions number 25 to 27 are long-answer type questions,
carrying 8 marks each. Answers to each of them should not exceed 350 words.

(v)  Section D — Questions number 28 to 30 are source based questions, carrying
6 marks each.

(vi)  Section E — Question number 31 is a map question that includes identification
and location of significant test items. Attach the map with the answer-book.

(vii) Answers should be brief and to the point also the above word limit be adhered
to as far as possible.

(viit) There is no overall choice. However, an internal choice has been provided in
2 questions of one mark, 1 question of three marks, 3 questions of eight marks
and the map question. You have to attempt only one of the choices in such
questions.

1 it is, l j l l l
(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A I1x20=20

1. Define the concept of Bodhisatta. 1

2. Study the following statements regarding the identification of centres of
craft production in Harappan culture :
L Archaeologists look for raw materials such as stone nodules,
copper ore, shells, etc.
I1. They study the soil texture.
III. They find unfinished objects, rejects and waste material.
IV.  They try to have chemical analysis of the soils.
Which of the above are correct reasons for identifying centres of craft
production ? 1
(A) TandII
(B) II and III
(C) TandIII
(D) IIIandIV
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3. Which one of the following categories is not supposed to have belonged to
the Brahmanical prescription of four varnas ? 1

(A) Brahmanas

(B) Kshatriyas

(C) Nishadas

(D) Vaishyas

Differentiate between Vaishnavism and Shaivism. 1

The most unique feature of the Harappan cities was the development of

6. Identify the following image and write its appropriate name : 1

Note: The following question is for the Visually Impaired Candidates only in lieu
of Q. No. 6 :

According to popular belief in Buddhism, a woman whose touch caused
trees to flower and bear fruit was called . 1
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10.

11.

12.

SIETET |l w9 o el IR R ! e A W % fou & ogd Icgeh 3 ? 1

AT

W™ F1 gfdfssd & ? 1

FHIGATHT 1 G i AT ? 1
AT

FIGIEFTHT 1 TGeh i AT 2 1

3SeH el <A Torer o1 99 fofay, o/ w1526 § o1er 3 31feer o form

o | 1

fafafaa el § 9 901 Thel & GaY | T8l 757 © ? 1

(A)  The NG Y fowdl 1 9k o |

(B) 3TheR < T+ AU ! fodr T o 38 ggg o9 |
(C) 319 yrfier 9 o foTu 399 gdred @HT <1 FHTor SR |
(D) HYR I WL I8k HHICGI 19 HIFE e o |

Fr=fefaa wamt = ufeu

I FHOCE T o A I =R foRivdT foeqr 3T g of |

II. 39 9T § 3fed 3T gegear off |

III. $S 9T HicH 1 FHI & T 57 30 A 7 |

IV. d%8 G TSESl | Hefed o |

W U T FHeAl § | HH-H FUICT T FH4d 3§ ? 1
(A) Had I

(B) I, II3R III

(C) IL I3 IV

(D) I, III3fR IV

e T & R, fefeifgad & & fasm amwrsg i s fohaq
! off ? 1

(A) TFHT h FAdH
(B) IS % TSI I
(C) BET SR el
(D) T % =
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7. Why were the French keen to take away the eastern gateway of Sanchi

Stupa to France ? 1

OR

Why were the Stupas venerated ? 1

8. Who was the author of Humanyun Nama ? 1
OR

Who was the author of Badshah Nama ? 1
9. Name the capital of Ibrahim Lodhi which was taken over by Babur in

1526. 1
10. Which one of the following statements regarding Akbar is not correct ? 1

(A)  Akbar was the devotee of Shaikh Muinuddin Chishti.

(B)  Akbar expanded and consolidated his empire.

(C) He constructed Ibadat Khana due to his quest for religious

knowledge.

(D) He had cordial relations with Safavids over Qandahar.
11. Read the following statements :

I. Krishnadeva Raya’s rule was characterised by expansion and

consolidation.

II. There was peace and prosperity in his empire.

III. He was credited with building some fine temples.

IV.  He belonged to the Sangama dynasty.

Which of the above statements are related to Krishnadeva Raya ? 1

(A) Onlyl

(B) I,II and III

(C) II III and IV

(D) I,IITandIV
12.  According to epigraphic evidence, who among the following founded the

Vijayanagara empire ? 1

(A)  Sultans of Deccan

(B)  Gajapati rulers of Orissa

(C) Harihara and Bukka

(D)  Cholas of Tamil Nadu
61/2/2 7

- PTO.




13.
14.

15.

16.
17.

18.
19.

20.

31 fohE SRR Wi & foh ShIeam SRR IiTel GRaR @ THEehT | Je1 W@ ?

39 fogEh aeh @1 W fafee, S geme fom gos 3 gt &1 &t &
=refter g At & fore fgera fomam |

ITA-fofet g0 YR o oW, S, @Nd-foae™ qe S W foEt gedes 1 9™
fefauw |

‘TR ST @ AT ?

g GfY & Ffdfied yagH § § SH-91 T 3799 W 1801 | &1 7g7 o1 ?

(A) S 393 HEAnht g f Aaieh SR wed A @ wam % fou
IS B |

(B) @gant ua % ga= | fofewr aftew et dama @it |

(C) wganht vy i 34 fofew afe Thel & warEmE i srawen St gt |

(D) 3 i erufa & for wearht va fohedl o smeeRl % Wy Gy W
R |

1857 < fagig & da FHie/ 4 Tk o4 @ & foru forg 9ehR 3 fopu 91 2

fafafea geet w fomm Hifsw .

I.  hiede fime

. Hfoum 991 | SEaifad “Ies T
III. 1935 1 YA TP ol STfafy

IV. <holshdl <hl oeiT &4

T TeATRAl T T HITHY 7

(A) LIV, IIL 11

(B) IIL T, IV, II

(C) I,IIL IL, IV

(D) IL I, IIL, IV

YFHIT (A) : HIA U 7 Qe fagra’ & wft TR T8 fmam o1, S9
3G AU 3T o foeg deam WS ¢t wEh |

FHRU(R):  WRA 9gd 91 gWl R 98 A ATl 1 o @ 3N 34 W &
AT W@ =M |

ST AR (A) R BRI (R) T LA HifC, 3R Farsy foh =it

T -9 98l 7

(A) (A ¥S &, g (R) T T& & |

(B) (A W@ &l §, 7 (R)TE 2 |

(C) (A) 3R (R)qAI @& & 3 (R), (A) T TE =& B |

(D) (A) AR (R) TAT F& &, g (R), (A) ! &I =& 181 3 |
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13.

14.

15.

16.
17.

18.
19.

20.

How do you think Francois Bernier was closely associated with the

Mughal Court ? 1

Name the foreign traveller who was appointed as qazi or judge of Delhi

by Muhammad Bin Tughlaq for several years. 1

Name the book written by Al-Biruni on religion, philosophy, astronomy

and laws of India. 1

What was the ‘Salt Law’ ? 1

Which one of the following provisions of Subsidiary Alliance was not

applicable on Awadh in 1801 ? 1

(A) The British would be responsible for protecting their ally from
internal and external threats.

(B)  The British contingent would be stationed in the territory of the
ally.

(C) The ally would provide resources to maintain the British
contingent.

(D) The ally was free to enter into agreements with other rulers
without the permission of the British.

How did the zamindars try to remain united during the Revolt of 1857 ?

Consider the following events :

L Cabinet Mission

I1. “Objective Resolution” in the Constituent Assembly

III. The Government of India Act, 1935

IV.  The Great Calcutta Killing

The correct chronological order of these events is :

A LIV, ILII

(B) IIL I IV, II

(C) LIILIIL IV

(Ob) I LII IV

Assertion (A): The Congress Party never accepted the ‘two-nation

theory’ when forced against its will to accept partition.
Reason (R) : India is a land of many religions and races and must
remain so.

Study the above Assertion (A) and Reason (R) and find out which one of

the following is correct : 1

(A) (A)is true, but (R) is not true.

(B) (A)is not true, but (R) is true.

(C)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(D) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

.61/2/2 | 9
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21.

22,

23.

24.

25.

26.

27.

E4E
[k

Qus @ 3xd=12

ST <hl TAfY o AFRGUH 1 9uH hifvg | 3

“IRAEE Juelt fosER ST 1 T @ UeHitae @i ot |7 3ugad

qehl Tied 39 hF ol =AFETT 38UST | 3

“Te % O fomg, qeemE, IRET 3R @, S9! Thae g1 germ |7 TSt

o 39 HUF I IHEAN TSI o Fed H Tqg hifvru | 3

37 gifeafaa =1 faveiyr hifse, e st=aria s stfueniat 3 seed samed)

T HoTel ol TSHEd hl ygiedl i iy § 98 % fore oHfia foran o | 3
STt

STSTEHT IATed] ok 37d oh ekl H USTHEA ohl UBTISAT o TBTS! AN <hl 37fefeh

3R grATfes qenadl o1 fagawo Hifvy | 3
QUe T 8x3=24

HESHYel bl faRarsti sl Tase hifvu 3 ged Wiheiell SH9C & &9 § A7y

1 sarE iy | 4+4=8
St

R yeme <l g faRivaredt ! Tuse Hhifve o o1 & ‘gry’ & fagrar 6

e T | 5+3=8

Tieted! i woed! afedt § qua sl & SE T qeEd it gRaEmstt

ftreht w1 Ui I | 8
STt

A A o QN TV GEIHRT AT T Th Bl TURISH <hl {HHRT 1 JUH

HIfT | 4+44=8

g (FEe3) TR hT 3Tfafyes Tumer Sifesn i v Shifse | 8
e

1800 % §1g WA H RIS | THadH shi Fgfaai Sl T@ i | 8
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21.

22,

23.

24.

25.

26.

27.

E4E

(5]
SECTION B Ix4=12
Describe the uniqueness of the Harappan script. 3
“The Amara-nayaka system was a political innovation of Vijayanagara
empire.” Justify the statement with suitable arguments. 3
“For Swaraj, Hindus, Muslims, Parsis and Sikhs will have to unite.”
Explain this statement of Gandhiji in the context of Non-Cooperation
Movement. 3
Analyse the circumstances under which the British officials invited
Santhals to settle in the peripheries of Rajmahal hills during the
nineteenth century. 3
OR
Analyse the economic and social conditions of the Paharias (hill folk) of
Rajmahal hills during the late eighteenth century. 3
SECTION C 8x3=24
Explain the characteristics of Mahajanapadas and explain Magadha as
the most powerful Mahajanapada. 4+4=8
OR
Explain the main features of the Mauryan administration and explain
the principles of Ashoka’s ‘Dhamma’. 5+3=8
Describe the role of village panchayats and headmen during the Mughal
period in the sixteenth and seventeenth centuries. 8
OR
Describe the role of village artisans and the village as a ‘Little Republic’
during the Mughal period. 4+4=8
Examine the colonial architectural styles of Bombay (Mumbai) city. 8
OR
Examine the trends of change in urbanisation in India after 1800. 8




E4E
[k

Qus v 6x3=18
28. THfaRad |iq 1 A@gHIYE® FRA hig TR 38k 1 T T JeHT
I fafegu '
IS TEATS! IR <l efrefam 1643

frafafaa meme SEism g tha /g ggaen favdt 6 et g/7g-97e7-37@78

(Irft SArenT = fovered) & foren mn R -
ACATEATAT hl A o WIC... & BHNT JRIAN... T I F 394
fuar (sesmg SMESTEl) % G Uk IR SSiie I o fou feheft... # 3@
o1d o foTT e off fob 80 U9 3R & gobM W 8 g 9R <l Afeaamt
THTS 37q1 Hehl... §gd fed... H Td &l 99 % =9Hg W AR A IR 310
U Yehed QUIE i W al hald, T & 74 0t fis ITh! @& i | &
Ug o = e Tt off |
SR ! T o Yohed WM o =Y U Jol T o 3@ 0§90 018
1 emd 1 g a1 g8... i o7 61 USFT hI T D arehl off |
TUME & Wi T8 37T 79 316 Fet I I5eh! INEe T g | TIeT |
¥ hed SUTE a% H 1 did I8l hl FHH l IOl g T8 | TG o i
QI & 98 TumE § B O9R o IR AR |@d B fore | iR § erw gren
¥ gohed SO T 54 9a¥ 3Irq1 SR foeeht | Ffeh Tamet guar ot W i w
of, # IaR Feh! off 3AfTT 30 H4 qohed AWR o ST @I ...

(28.1) RIS = 3@ o i 319 fawama 3t vl =t foher Tepr urfar 2 2

(28.2) 3T TUME ! Tk fafdrse diel 3T gl v T A1 AT 2 2
(28.3) 3G TohH T TUME W 39T T Tehe bt 2 2
29. frfafea @@ &1 a@grigds srerem fifve it 3as = e o get &
w%ﬁ@z:
“ger Tt T TE ATt TR
ﬂg{ﬁsﬁfﬂ@'[:
24 ¥ @ off SUQ 99d a% s ofie w1 3@ fawner saEies wee |
SUh-2Ih qaTEl Bl af TS | dgai STIeil shl SielTeht T L fedm T
Sefeh I9gd heA™ Al & SR Th Mel W 7@ was | L e
AfTEe 3 3 (faenel gictd) o 1 I8t | 9= 1 716w fean i et
IS T gEaHTe fohu T amae e fomm... |
(29.1) TNk SHTEAT o THT & T o HRUN shl TG I | 2

(29.2) BTAd ! THEGA @ & fou 3Ue AR IS hen =1 T8l 38T Heh ? 2
(29.3) T AT Ig TIAd & foh foferm Afoege 1 et =m=Ea off 2 2
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SECTION D

E4E
[k

6x3=18

28. Study the following source carefully and answer the questions that follow :

The pilgrimage of the Mughal princess Jahanara, 1643

The following is an excerpt from Jahanara’s biography of Shaikh
Muinuddin Chishti, titled Munis al-Arwah (The Confidant of Spirits) :

(28.1) How did Jahanara exhibit her faith and devotion to the Shaikh ?

After praising the one God ... this lowly faqira (humble soul)
Jahanara ... went from the capital Agra in the company of my
great father (Emperor Shah Jahan) towards the pure region of
incomparable Ajmer ... I was committed to this idea, that everyday
in every station I would perform two cycles of optional prayer ... .

For several days ... I did not sleep on a leopard skin at night, I did
not extend my feet in the direction of the blessed sanctuary of the
revered saving master, and I did not turn my back towards him. I
passed the days beneath the trees.

On Thursday, the fourth of the blessed month of Ramzan, I
attained the happiness of pilgrimage to the illuminated and the
perfumed tomb ... . With an hour of daylight remaining, I went to
the holy sanctuary and rubbed my pale face with the dust of that
threshold. From the doorway to the blessed tomb I went barefoot,
kissing the ground. Having entered the dome, I went around the
light-filled tomb of my master seven times ... Finally, with my own
hand I put the finest quality of itar on the perfumed tomb of the
revered one, and having taken off the rose scarf that I had on my
head, I placed it on the top of the blessed tomb ...

2

(28.2) Why did she consider Dargah as a special place of pilgrimage and

reverence ?

(28.3) How did she pay her obeisance at the Dargah ?

2
2

29. Study the following source carefully and answer the questions that follow :

“Without a shot being fired”

This is what Moon wrote :

For over twenty-four hours riotous mobs were allowed to rage
through this great commercial city unchallenged and
unchecked. The finest bazaars were burnt to the ground
without a shot being fired to disperse the incendiaries (i.e. those
who stirred up conflict). The ... District Magistrate marched his
(large police) force into the city and marched it out again
without making any effective use of it at all ...

(29.1) Examine the causes for the collapse of the administrative system. 2
(29.2) Why could the British officials not take any action to control the

(29.3) Do you think the role of the District Magistrate was justified ?

situation ?
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30. fr=fafea & 1 rauriyds rerem Hifde o 3uss A= for o gl &+
W%’%’Q:

‘“Staa” amTres wdsa

TEIRA % 37773947 ¥ Teh el 3gd 2 :

Tsh 1 STV 10T & U1, S $% 99 o TIAR 1 agfefan 61 frem <o
¥, THA Ame oardt fwrg (Feedt auer) omn | g 3 S o
TuFd o, 39 7 & ®9 § TR w1 O 51 W e | uheen 3 a1 |
de L gt @ gior St gfomT s qen 3/ 19T & A o 98 WY d R
TAN 1 A HH M | GHI o qY 98 dR Ia ° fagewa & m |
T {1 % TIHAR 310 Fdl o WY A H [T Hd g Ha &
Tifie 9= MU | FHn el P Oh THE ka6 H fowe fug w5 qEe
Hieh T | ShITUd 1okt Tehoted o Teh 1Y HTA dR AT 3T Yg &g
H fem | 9 98 a1 @l d died dREn 1 I8 QA T SR
JTEEfehd Bl U | 37814 Tsheled bl qRM, I8 T 1 g7 1 f3rsy
AT |

Zor 3 379 B By o1 & s 9r 95 whar on foh g 3 ot s |
afgedlar e = | 3 A GIur N AR A YU A1g fewmn | g
Tshared o UTH MU & I 3T & AR IO foham | a9 gior 3 7%
T o TY T Teholed ¥ IHh I B1Y HT BT W form | Tehetsd 3
B % 1 AT QT I B ¢ T | 319 Teheted R =A™ H 3T a9
T @ | 39 g ST 4 319 i T a= i fFamn - i oft 3 @ 9Em
L CIRUE R

(30.1) QU1 3 Ushetsd ol 79T e wfiepR o6 | oI o e feam 2
(30.2) THAT R TAM h! 3T HIAAT hdl JTed hl ?
(30.3) TUheled o AYA-3TTT ! UTSdl o THET G0 T 31T B4 1 Ui=T 4

fm 2
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30. Study the following source carefully and answer the questions that

follow :

“Proper” social roles

Here is a story from the Adi Parvan of the Mahabharata :

Once Drona, a Brahmana who taught archery to the Kuru princes,
was approached by Ekalavya, a forest-dwelling nishada (a hunting
community). When Drona, who knew the dharma, refused to have
him as his pupil, Ekalavya returned to the forest, prepared an
image of Drona out of clay, and treating it as his teacher, began to
practise on his own. In due course, he acquired great skill in
archery. One day, the Kuru princes went hunting and their dog,
wandering in the woods, came upon Ekalavya. When the dog smelt
the dark nishada wrapped in black deer skin, his body caked with
dirt, it began to bark. Annoyed, Ekalavya shot seven arrows into its
mouth. When the dog returned to the Pandavas, they were amazed
at this superb display of archery. They tracked down Ekalavya, who
introduced himself as a pupil of Drona.

Drona had once told his favourite student Arjuna, that he would be
unrivalled amongst his pupils. Arjuna now reminded Drona about
this. Drona approached Ekalavya, who immediately acknowledged
and honoured him as his teacher. When Drona demanded his right
thumb as his fee, Ekalavya unhesitatingly cut it off and offered it.
But thereafter, when he shot with his remaining fingers, he was no
longer as fast as he had been before. Thus, Drona kept his word : no
one was better than Arjuna.

(30.1) Why did Drona refuse to accept Ekalavya as his pupil ?

(30.2) How did Ekalavya acquire the supreme skill of archery ?

(30.3) Why did Ekalavya introduce himself to the Pandavas as a pupil of

Drona ?
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E4E

wus &
(vt smenfia wea) 1x6=6
31. (31.1) WRA % fCU MU THIfqsh W-AFRET (56 19 W) H, F=faiea =t
39 fogl @ ifea shiforg 3t 3k T fefa 1+1+1=3
(i) AN — T fahiaa gewE queda

AT
AT — Teh St T

(i)  9Td — et < e T
(i)  STHIER HAAT THIRA — TS TG T heg

(31.2) WA & &1 TSHIfdes @-0ERT |, 9 T 6l A, B 3R C 8 g
TR R S 1857 % SN IS % FEu H 9 | 3% qgeY SN 396w

I ITeh fere Ei=h 18 Waret w fafau | I1x3=3
qig: AT o7 FacT gl qiienteel & o/ 3. g. 31 & € W E
(31.1) Toredl <fia forepfira gewars querett &1 3g@ HIfT | 1x3=3
JrerE
1857 % fagig & fohral o gl ol 3@ ShIlNTT | 1x3=3
(31.2) TS 3o o fohegl 19 shegi o W faAfau | I1x3=3
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SECTION E
(Map Based Question) Ix6=6
31. (31.1) On the given political outline map of India (on page 19), locate and
label the following with appropriate symbols : 1+1+1=3
) Nageshwar — A mature Harappan site
OR
Amaravati — A Buddhist site
(i)  Panipat — A territory under the Mughals
(i1i)) Amritsar OR Champaran — A centre of national movement
(31.2) On the same political outline map of India, three places have been
marked as A, B and C, which were under the British control
during 1857. Identify them and write their correct names on the
lines drawn near them. 1x3=3

Note: The following questions are for the Visually Impaired Candidates only in
lieu of Q. No. 31 :

(31.1) Mention any three mature Harappan sites. Ix3=3
OR

Mention any three centres of Revolt of 1857. I1x3=3

(31.2) Name any three centres of National Movement. I1x3=3

61212 | 17 - PTO.
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I3 E. 31.1 3 31.2 & fo1U For question no. 31.1 and 31.2
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